Unit 13

Probability
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Solution of MCQs

1 | Anindividual outcome in the sample space is a sample point.

2 | Favorable outcome = event we are interested in

3 | Relative frequency = number of favorable outcomes / total outcomes

4. | Estimated probability = relative frequency

5 | Sum of expected frequencies = total number of trials

6 | Probability = chance that a particular event will occur

7 | Likely event = high chance but not certain

8 | Sample space for 4 dice = 6* = 1296 = total outcomes = 64
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O | Probability of double 2 = only (2,2) = 1 out of 36 = 1/36
Number of Jacks + Kings = 8 (4 Jacks + 4 Kings).

10 | Favorable outcomes = 52 — 8 = 44,

Probability = 44/52 = 11/13.
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